sem NI~ INeT-(CBsas - Software Pn)ed Managomeut

QP Code : 5881

( 3 Hours) [ Total Marks : 807 v*
o>
N.B.: (1) Question 1 is compulsory I
(2) Outofremaining attempt any three. N
(3) Assume suitable data wherever required. A \3 '
(4) Figures to right indicates full marks, 57
N
1. Solveany Four: -
: a) Define project management. 5
b) Explain the need of project management. 5
c) Explain Business Case. S 5
d) Explain formal and informal organisation. P x 5
e) What is project? What are the attributes of a proj ect? ,_:“ 5
2. @) ExplainfourP's wnth respect to Project Managemggt' . 10
: i) Product ii) People iii) Process iv) Prq; ect
b) Explain various project scheduling tcchmques Explain the difference 10
between CPM and PERT. s
3. a) Describe the five phases of IT proj?é% methodology. 10
b) Describe the five scope managquﬁgnt processes. . 10
({ \
4. a) Explain pro_;ect jeadership ahd ethics. 10
b) Listand explain the steps’tnvolved in terminating a project. 10
A '
5. a) Whatis project nskfi?nanagcrncnt'? What are the RM processes? 10
b) Distinguish resom%c loading from resource levelling. Why is levelling 10
of resources(pcéferrcd to large fluctuations?
'S
o \.,_
6. Explainwi brief answer : (any four) 20

a) Whatis'a milestone? Why are they useful?
b) W[;ZE is projectitis? How can an organization minimize its likelihood of
ﬁé occurrence?
c@ Explam the difference between-AON and PERT.
: Why is effective and efficient communication vital to a project?
§\ e) How can asystem be a technical success but an organizational failure?
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T / Serm-\1] ( CRSG 3.), / Cloud CO"“PL&S QP Code : 5922

( 3 Hours) [Total Marks : 80
N.B. (1) Qucs;cbion no. 1is cornpuls:)rx.
(2) Attemptany three from remaiﬁing five questions.

(3) Assume-suitable data, if necessary.

1. (a) Whatiscloud? Explain its features, service and deployment models,

(b)

o

(a)

(b)

(®)

4. (a)

(b)

5. (a)
(b)

What is virtualization? What are benetfits and mechanisms used for
virtualization?

What are the features of Amazon SimpleDB?
Explain Big Table as Google's NoSQL system in details

Explain conceptual Architecture of Open Stack end its modes of operation.
What is CSB? Explain its role with example.

What are public cloud adoption phases for SMBs? What are cloud vendor
roles and responsibilities towear% -§‘1\¢IBS‘?
Explain AAA model in detail along with its industry implementation?

What are the risks associated with cloud computing?
What are the fundamenial requirements for cloud application architecture?

6. Write a note on

L.

Factors for successful cloud deployment

. Cloud Service Gateway

2
3. Google App Engine
4

. SaaS maturity model
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Sem-~ VI - chgqg) ~INET- jnkemﬁenr System - Nov-~15

Q.P. Code : 5960

(Revised Course) ~
(3 Hours) [ Total Marks : 80

N.B. : (1) Question No. 1 is compulsory.
© (2) Attempt any Three of the remaining Five questions.

1. (a) What is AI? List dawn all components of Al. N
(b) List dawn all properties of Agent Task Environment explain in short aﬂy one,
(d) What do you mean by heuristic function? Why it is use?

(¢) What is Expert system shell explain in short.

(f) 'What is Reasoning? Write its role in Al in Short.

(h) - Give the Comparative analysis of Uninformed Search techﬁgques

h W W W WWw

2. (a) Consider the following graph starting from P execute D:‘- S, the goal node is 10
V. Show the order in which the nodes are expanded. Assume that the
alphabetically smaller node is expanded first to break ties and also write the
properties of DFS.

o {QD

(b) Listdown all the types of agent architecture. Explain utility based and learning 10
agent.

fé [

-— —— e

3. (a) Suppose you are;dcs‘igning a machine to pass the Turing test. What are the 5§
capabilities sucli machine must have? Explain?
(b) Represent fqllpWing'sentences in first order logic. ‘ 10
(i) Every gardener like the sun.
(ii) All purple mushrooms are poisonous.
(iii).« Evcry student who takes French passes it.
(w) " No person buys an expensive policy.
(c) W}‘ﬁe the Planning aIgonthm for Spare Tyre Problem. 5

[TURN OVER
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QP Code : 6030 R4
(3 Hours) [ Total Marks :80 ok
ol
: : | e
N.B.: ’(1) Questions No. 1 is compulsory -
(2) Solve any three from remaining questions. o,
(3) Figures to the right indicate full marks. \ég\“’
A D

(4) Assume suitable data if necessary

‘E‘\

1. (a) Consider asingle high-power transmitter that can support 100 voice chanh':"?l’s covering
a given service area. Let the service area be divided into seven sma}l“ﬁrareaf cells. As
shown in‘figure, each supported by lower power transmitters. The@x;éllable spectrum
of 100 voice channels is divided into 4 groups of 25 Channels<5ach The cells (1, 7)

/(2,4) (3, 5) and 6 are assigned distinct channel groups. Showglat the total number of
channels that can be supported is enhanced to 175 to coxfé; € same service area.

(b) Explain in detail TDMA, CDMA and Fp&fA

2. (a) Explainin detail the CDMA archite ‘u?ure

(b) Explain in detail the IEEE 802; @MAC Layer.

K\\

3. (a) Explainin detail LRWPAN{E‘

(b) Compare CDMA 2000 & W-CDMA.

:{g.f

4. (a) Explainin detail le IP.

(b) Explain posmble"a acks on wireless LAN and explain WEP in detail.

5. (a) Explainin gg,{tgxl Bluetooth architecture.
(b) Explain 1@ detail GSM architecture

6. Writes &éﬁnote on any four.
FHSS and DSSS
g&é‘) OFDMA
() MMDS
\\3-’ (d) WLAN Architecture
- () WIMAX

- k2
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(3 Hours) [ Total Marks : 8Q<~5/—-
‘ --&t
; g - . ’\(’)
N.B.: (1) Question no 1 is compulsory ' L
(2) Attempt any three questions from Q2 to Q6 - a7
(3) Assume data if required §Q
| l. (a) Give example of an interface you have come across which is 20
(i) Useful, usable and used ‘,\:V
(ii) Which is useful but difficult to use? ‘,\}x
(iii) Useful but not usable hence not used. o
(b) Explain National, International and Vender Standards Q“:}
(¢) Design a device with two buttons {B1, B2} tomap 6 ﬁmctmmalmcs {Fl,F2,F3,F4,
FS, F6) Design can be theoretical or graphical. =y
(d) Comment on the statement "Usability aspect is equally, n\i’nportant as technical aspect
ofthe application". K u
. 3
- 2. {(a) How usability approach can be adapted in systetn development. 10
(b) How you will know your user in the procedsg.‘q‘fusability process 10
3. (a) On which dimensions user experienc ch‘f%ers 10
(b) What process you follow while shopvgmg for your clothes use this process in 10
4 (a) listusability heuristics? Explaxg aﬁy two heuristics in detail. 10
(b) Explain Usability attributes. 10
A\
\L.--\
(a) Explain focus group usabﬁ:ty assessment method 10
(b) Whatis iterative dcslgrr? Is it suitable for GUI desxgn” 10
(/
\
(a) Whatare the chpl{eﬁges In designing international graphical Interface? 10
b) Design umquc code for every citizen of India with minimum memory load to 10

rcmember
L
"?

|\ ...............
\
-~
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Eﬁ/@NFf/ Semr'V__TjCchaD/f—Comg T

Nov~15 &
QP Code : 6211 vSQ
(3 Hours) [ Total Marks : 80 -l
' \<‘;j'
N.B.: (1) Question No. 1 compulsory. Y

(2) Solve any three questions out of rcmammg Five. e
. (3) Assume suitable data. A
f - Q
1. Youwant to be a part of Digital India move announced by Indian Government, ?%u 20
want to set up a business which will provide a required training to the govemmcnt
staff as well as to the citizens of India along with the responsibility of ptoviding
the required infrastructure to set up the training centers nationwide. YmE company
will have 49% share and the rest 51% will remain with the Indlan}, overnment.
Develop a business plan based on the following guidelines. =
i) Identify the business model with respect to the follp\\mng points: Value
proposmon Revenue model, Market oppp(&hmty, Competitive
environment, Competmve advantage, Market strategy, Organizational
development, Management team
ii) Develop the strategic plan:
" a. Strategic Analysis includes: Exte ( #nvironment, Internal resources
b. Strategic Objectives - includes esmon Mission, and objectives.
" c. Strategic definition <
d. Marketing plan Cz\
e. SCM and CRM plan ’{(’
iii) Implementation should iﬁ%]ude few screens (hand drawn) of websites
© demonstrating &
a Business modelg‘kcvenue model(s) used
b. CRM, SCM c@a('%tles

L\"I

c. Marketin vmes
d. Stratcgiéb;cctwcs like mission, vision and objectives
e Secugd;y’conccm Payment mode (in case of B-C and C-C business
model)
I M;bmtormg and Control, maintenance
g§m ne example of use-case scenario.
H Site structure diagram (blueprint) showing layout and relationship
between pages
lv) Organizational structure and Hardware and Software requirement

<.<)

‘}*
2 v a) Enlist and explain types of portals with an example of each types? 10
\45“ b) Write a short note E-CRM also explain its benefits. 10
N
g _ [ TURN OVER
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b)

b)
c)
)

b)

b)

Explain SWOT analysis with example.
- Describe different elements E-business procurem@%ystem.

QP Code : 6211
_n
Explain the concept of Porter's value chain.
Explain buy side and sell side E-commerce with the help of example.

Compare E-commerce and E-business?
Difference between client side programming and server side pro grammigg@
What are the characteristics of payment system? A

Explain SOSTAC framework .

Describe E-business revenue models and its types. q‘:ﬁ

How does E-cash transfer take place in E-business. &V
o o
\\
NG




